Eleventh Annual College Greek Exam (2019)

TIME: 50 MINUTES DO NOT USE A DICTIONARY
There is only one correct answer/choice for each question. Choose the BEST POSSIBLE ANSWER.

1. The adjective that agrees with (modifies) the noun BaciAéwc is
a. kaAov c. kaAot
b. kaAdg d. kaAwv

2. The case and number of the noun eiprjvng are
a. nominative singular c. dative plural
b. genitive singular d. accusative plural

3. Which verb is correctly accented?
a. duvaueda c. duvapeba
b. duvapueda d. dvvapeda

4. Which is the comparative adjective that corresponds to dAn01c?
a. aAnOéotepog c. aAnOéotatog
b. aAnB0oTeQog d. aAnOwrepog

5. The accusative plural form of @wg, pwtdc, 19, is
a. pwtl C. T
b. pwtwv d. pwotv

6. The tense and voice of d1dOpevoV are
a. present active c. aorist middle

b. present middle d. perfect passive

7. The aorist tense verb form eimov corresponds to which present tense verb?

a. algéw C. £QWTAW
b. émopat d. Aéyw
8. Who is associated with the poem 'Odvcoelx?

o

0 ApxiAoxog c. 0 'Ounopocg
b. 1 Zanew d. 6 "Hotodog



9. Choose the alternative that is closest in meaning to this sentence:
Tnv moAw, €pn, we otoatuwtng EpLAaEA.

a. AéyeL 0 0TOATIWTNG OTL TNV TTOALY EPUALE.

b. AéyeL @ otoatiwty) TV TOALY PUAGEELY.

C. AéyeL 8TL O OTEATITNG TV TTOALV UAARTTEL

d. 0 oteaTTNG TNV TOALY PULALEELY EAAEL

10. Choose the pronoun that fits correctly into this sentence.

0 BaoAevg Toug €x0poUg TV TTOALV ATéKTELVAV €DlWEEV.
a. ot C. olg
b. aig d. oUg

11. Choose the best translation for this sentence:

tic PovAETAL TV AQXTV TALS YUVALEL dDdOVAL;

a. Will anyone be willing to give women power?

b. Who wants to give women power?

c. Is anyone deliberating about giving women power?
d. Who is planning to give women power?

12. The adjective that agrees with (modifies) yévelis
a. £uov C. ¢ua
b. euw d. éuov

13. The underlined words in the sentence

0 &deAPog €mopeveTo oLV T1) UNTEL Kat é0avpalev v O&Aaocoav.
can be replaced by
a. TTOQEVOHEVOG C. TOQEVO NG
b. mopevwv d. memopevpévog

14. The case of Twvog is
a. nominative c. dative

b. genitive d. accusative

15. Choose the adjective that best completes this sentence:

TOV TOV AavOQOG (MmoVv KwAVOEV.
a. ToVNEOg C. TIOVT|QOV
b. movnpov d. movnowv

16. The form of the definite article that agrees with (modifies) xe100g is
a. g c.

<

b. 1) d. mv



17. The plural of Tovto is
a. ToLTWV c. TovTa
b. tavta d. tavTnV

18. Choose the correct form of the verb to complete this sentence:

0 maTnE T TéKva.
a. étoepe c. £TQeOV
b. étoépet d. étoepav

19. Choose the preposition that fits correctly into this sentence.
T OTEATN YW elpydlovTo.

a. ox C. €lg

b. ev d. ovv

20. The tense and mood of étiurjoate are
a. present indicative c. aorist indicative
b. future indicative d. aorist infinitive



How the oracle at Delphi was established.

€V Tolg AeAQOIG 1)V XAOUA. alY@V TEQL TOUTO VEUOUEVWYV (OVTIW YXQ

oL AvOQWMOL KATOKOLVTO TOUG AeA@OoUg), Aéyovat atel alya Tiva
mpootovoav Kat mEooPAépacav @ XaopaTt oklTavV Bavpaotwg kol
nipoteoOat VTV ddoov 1) mEoTeQoV elwbel POEyyeoOal.

0 O'almoAog, O0¢ émeotatel TALS alély, Eé0avuace T0 TapddoEov Katl
TMEO0EADWV TQ XATHATL Kol KaTdwV 0lovTieQ 1)V €émabe 1O avTo 1) atyl:
éxetvn te Yo Opowa émotlet toig évBovoidlovot kal 0 almoAog EAeye T

HEAAovTa YiyveoOaL peta d& TavTa TNG PTIUNG TTARX TOLS €Y XWELOLS

O 00 NI O U = W N =

TIOQEVOUEVNG TEQL TOL TAOOLE TWV TMROTLOVTIWYV T XATUATL TIAE{OVEG
10 wopwVTO €Tl TOV TOTOV* DX DE TO MARADOEOV TIAVTWYV TERWMEVWYV Ol
11 atet mAnowlovteg éveBovotalov. dL’ &g altiag mavteg é0avpalov te To
12 ev AeAgolc pavtetov kat evoutlov g I'ng elvat to xonotroov. kat

13 xoovov pév tiva ot BovAdpevoL HavTeVeoOaL TIOOOIOVTES TQ XATHUATL

14 ¢molovvTo TG pavTeing AAANAOLG.

atet: always

alé, atyog, 1): goat
ainoAog, -ov,0: goatherd
&AANAoic = to each other
AeAgot, -@v, ot: Delphi
dtapogog, -ov: different
€yxwolog, -ov, 0: inhabitant

olovre = just what sort of (thing)

ouotog, -a, -ov: same sort

ogudopat hurry

oUmw: not yet

naOog -ovg, 16 experience

naadolov, -ov, T10: phenomenon
nepaopat try mAnowCew: approach, come
elwOeL = be accustomed near

évOovotdlw: be possessed by a divinity 7100 + TNt
("enthused") TEOG + BAETIW
emotatéw: oversee, be in charge of TQOG + EljLL

Oavpaotwe: bizarrely
Kata + 004w

Katowkéw: settle, dwell in
Havteln, -ag, 1): prophecy
HavTelov, -ov, TO: oracle
pavtevopal: be a diviner
Véuw: graze oLTIw: not yet

TOG + EQxouatL

TEOTEQOV previously

oklptdw: leap (around)
@O&yyouatr make a sound

XAOUQ, -patog, T0: chasm, opening
XOnoTrELoV, -ov, TO: prophecy

YOU MAY SEPARATE THIS PAGE FROM THE REST OF THE TEST
IN ORDER TO CONSULT THE READING PASSAGE MORE EASILY.



21. In line 1, the case of the noun AeA@oig is
a) nominative. c) dative.
b) genitive. d) accusative.

22.Inline 1, the case and use of the participle vepouévawv is
a) genitive of possession, modifying atywv (line 1).

b) genitive absolute modifying atywv (line 1).

c) dative because of the verb Aéyovot (line 1).

d) dative with the noun atywv (line 1).

23. According to lines 1 -2,

a) only goats once dwelled around Delphi.

b) only people once dwelled around Delphi.

¢) no goats now dwell around Delphi.

d) both goats and people have always dwelled around Delphi.

24. The form of okptav (line 3) is
a) an infinitive. C) a participle.
b) an accusative. d) a subjunctive.

25. The part of speech of Oavuaotwg (line 3) is best described as a(n)
a) adverb. ¢) participle.
b) adjective. d) noun.

26. According to lines 2 — 4 (AéyovoL...p0&yyeoOat), near the opening, a goat
a) approached the area with caution.

b) did its usual goat-like leaping about.

c) looked into the opening and sang a song.

d) gave forth a sound that was unusual for it.

27.In line 6, the participle mpooeAOwv modifies
a) attoAog (line 5). ) mapado&ov (line 5).
b) at&iv (line 5). d) xdopatt (line 6).

28. In line 6, the noun xdouartt is dative because of the verb
a) e0avpaoe (line 5). ¢) katwv (line 6).
b) mpooeABwv (line 6). d) émaBe (line 6).

29.Inlines 5 -6 (0 & aimoOAoG...atyl), we read that

a) there was an unusual goatherd at the opening.

b) a goatherd felt the same thing a goat did.

c) a goat noticed the phenomenon as if it were itself a human being.
d) it is not possible to look straight at the opening.



30. The word évBovawalovot (line 7) is a(n)
a) participle. ) noun.
b) infinitive. d) finite verb.

31. In line 8, the object of the preposition petd is in this case:
a) nominative. c) dative.
b) genitive. d) accusative.

32. In lines 7 — 8 (éxelvn...ytyveoOat), we learn that

a) the goat and the goatherd were acting in a peculiar fashion.

b) the goatherd told the goats what was going to happen.

c) a goat did exactly the same thing as expected.

d) the goatherd saw that people and animals were divinely possessed.

33. The noun ¢njung (line 8) is related etymologically to the English word
a) femur. c) blasphemy.
b) fantasy. d) phenomenon.

34. The degree of mAeioveg (line 9) is
a) positive. c) superlative.
b) comparative. d) dative.

35. The word mepwpévwy (line 10) is related etymologically to the English word
a) appropriate. C) permanent.
b) empirical. d) empire.

36. According to lines 9 — 10, because of the phenomenon at Delphi, people
a) were taken over by divine possession.

b) kept coming to see the odd behavior of the goats.

¢) did not approach the area.

d) were always testing those who returned from the place.

37.Inline 11, é0avpualov has two acute accents because it
a) is plural. ¢) has four syllables.
b) follows mavteg (line 11) d) is followed by te (line 11).

38. The noun pavrteiov (line 12) is the object of the
a) preposition dt” (line 11). ¢) preposition €v (line 12).
b) verb ¢0avualov (line 11). d) verb évoulov (line 12).



39. In lines 11 — 12 (dt'...xono1rowov), we read that

a) people were amazed at the reason for the oracle.

b) amazing prophecies were always coming from the Earth herself.
c) people thought that everyone should go to Delphi.

d) the oracle was considered a prophecy from the Earth goddess.

40. According to lines 12 — 14 (kat...aAANAAOLG), as time went on

a) people wanted to help each other to become diviners or prophets.
b) more people approached the opening at Delphi.

c) the visitors made prophecies to each other.

d) the oracle produced more prophecies.

TEAOX
(The End)



